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Combined Graduate Level Examination-2019 (Tier-I)

[Roll Number

Candidate Name

Venue Name

Exam Date 09/03/2020

Exam Time 10:00 AM-11:00 AM
Subject CGLE Tier |

Section : General Intelligence and Reasoning

Q1 37 fawes & =o= Y, Twd demat &1 wvw # = gou §, S Fe R v g & st &
= 8l

(88, 60, 37)

Ans %1 (36, 70, 38)
X 2 (43, 49, 27)
X s (56, 38, 28)
v i (94, 42, 34)

Question ID : 816161845
Status : Not Answered
Chosen Option : --

02 e sRET & wE @ ¥, e w7 a7
Ans X.Ia_m_q_r

V2 gfaror sl

< 3. 3TRreRT

X4 Sl FRRE

Question ID : 816161835
Status : Answered
Chosen Option : 2

Q.3  Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Ans  of 1 INQS
X 2. RSTU
X3 TVXZ
X 4 ADGJ

Question ID : 816161833
Status : Answered
Chosen Option: 1

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q4 fralr T g s &, 'POUND' #r 106" 3R 'CLEAN' &t 41" forar =1 #1 3% e s &
'MAKER' &I 33 far sreem?

Ans X1 112
X2 50
V3 54
X478

QuestionID : 816161838
Status : Not Answered
Chosen Option : --

¥ s R w7 T B & 7 g SRR (T B s aE )

1

Ans

W 2

r 2

Question ID : 816161852
Status : Answered
Chosen Option : 2
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Q.6 Which of the following Venn diagrams best represents the relationship between the classes?
Tables, Wooden objects, Chairs

OO0

v 2

QDO

Question ID : 816161855
Status : Answered
Chosen Option : 2

Q7 FEwst & 9% gew R aw , e @ O B 7 B o @ wEe & 3R o s 8l 5w
FEAS FE-IIA F TI F

Ans X1 53 : 378

X 2 45 - 322
X3 37 : 266
v 43 : 318

Question ID : 816161844
Status : Not Answered
Chosen Option : --

Q8 Crafafa smen & ged-Ree (?) & S A I W-TEE F TTT F
DJQC, ELTG, FNWK, GPZO, ?
Ans o 1. HRCS
# 2. HRBU
X 3. HQCT
X 4 GRDS

QuestionID : 816161839
Status : Answered
Chosen Option: 1

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.9 60 students participated in one or more of the three competitions, i.e. Quiz, Extempore and Debate. A total of 22
students participated either in Quiz only or in Extempore only. 4 students participated in all three competitions. A total
of 14 students participated in any of the two competitions only. How many students participated in Debate only?

Ans x1, 22
X211
V'3 20
X4 14

Question ID : 816161848
Status : Answered
Chosen Option: 3

Q.10 37 RFeT & w3 &, 5w el 1 799 H I 7Y 7, S T A9 QU A0 qeg-go A F
ofea & @ 2

st : T
s X gfgifaar : Ffaar
K27l ;o
V'3 ofteT : Sedior
P L -

Question ID : 816161836
Status : Answered
Chosen Option : 3

N Crefafee swer § gea-fEa (?) 1 F9F A T HET F ThT HL
Y. R.L; G, 7.2

Ans 1.
X2
X3
"

O O m ™ m

Question ID : 816161831
Status : Answered
Chosen Option : 4

Q.12 Four words have been given, out of which three are alike in some manner and one is different. Select the odd word.

Ans X 1. Volume
' 2 Gallon
< 3. Distance
< 4 Weight

Question ID : 816161834
Status : Answered
Chosen Option : 2
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Q1B Coafaf@T el & 30 &7 & Uaiyg &1 3% 3§ e qeery 7 A 2

. Realistic
. Realism
Restore
Research

oA LN =

Resurge

Ans W12 & 3 B
<22 1,405 3
<32 1,3 4,5
v4+2 1,4 3,5

Question ID : 816161832
Status : Answered
Chosen Option : 4

Q.14 faw v et R freadt # e # 91 g A g Fue & & Sl w oy a9 @ 7w
HH dt W rfE Tt @ e femrd & € ou e & #i oe ey SR ® ¥ 59 FuEr
T AT FAF FE

YA

1. T& 7o, oEF ¢l

2. @sf AT+, O &
sy

. FT o, FAF

Il. & B, oEF ¢l

Il =% off o, 7o =7 31

X e ST 11 AR NI e R
X2 T ar frsss | ar 11l HeTeRor T g
v o Fae T | 3R 1L e = £
X o welr Ty 1, 113 111 sregeor #ee £

Question ID : 816161841
Status : Answered
Chosen Option : 3

Q15 37 oo = @ FY, @ S0l FEwr @ € d9y ¥, S g@d e F ugel = W
BE:I30 g

ans XK1 61
X2 53
X3 50
v 56

QuestionID : 816161843
Status : Answered
Chosen Option : 4
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Q.16 figr fafe=a Fe smor #, 'DRONE’ &' 'SERFO' for@m =1 €1 38 % s & 'HOUSE' &r &3 fomn
STCET?

ans o 1 PIXFT
X 2 QIXGB
X 5 PQWGS
X 4 PIVFT

Question ID : 816161837
Status : Answered
Chosen Option : 2

Q.17 &rr & ¢ arpfaet & FoTe ¥ UF g W AT FeS B OHH BT ¥ A & ok gy A @
o B 77 I T W R mm

Ans

oo

Question ID : 816161854
Status : Answered
Chosen Option : 1
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Q.18

Ans

A+BaFrNTE A B BTy
A x B & HT § ‘A, B # A€
A+ B & 3T § A B & 8T &

FRT s aasF s @ aarTaar &, ' H, P & oar §2

XK1D+H+KxM=+=P
K2H+K+DxP =
V3iP+K+D=Hx
X+P+K+DxH

= R s

Question ID : 816161840
Status : Answered
Chosen Option : 4

Q.19

Ans

3 & F TS wY, A AT gEer ¥ @sfeg a8 2

2, 6, 14, 30, 62, 126, 250
X162

X 2126

V'3 250

x4 14

Question ID : 816161842
Status : Answered
Chosen Option : 3

Q.20

Ans

& 15 sgher A T Rager &2

<124
V2 22
x 3 21
X423

Question ID : 816161850
Status : Answered
Chosen Option : 2
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Q21 5= o uor W T U IET-EAE H e HT W@ I A, S SEr WE 90T SfY F wwa
RQBKHNT

e XK1 LUHANEOY
v:TUHNE80OA
":BEOBKHMUWUT
X+«TNHMYE80DHA

Question ID : 816161853
Status : Answered
Chosen Option : 2

Q.22 & a1 ofic @ HigHT Tk U ST I | AT A O H, GeAtatad § @ # @ send & S
i e 9T @

A B|U|

[e]-
e X1 Ak Q
v2Q3RE
X3Lsaru
X4+B AR E

Question ID : 816161851
Status : Answered
Chosen Option: 2

Q.23 #fy ‘A & AT ‘TeET &, 'B' F AdeE IOT §, 'C’ F Agew =9 g, AT D' F Adew wer § A
TTRT O &1 77 #7147 37

32B4A12B (35 A24)C5H2D 4
Ans K147

V29

X3 39

X419

Question ID : 816161847
Status : Answered
Chosen Option : 2
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Q2 Crafafea g@er # v fEa (?) 1 S 37 6 3Ty & 93T F{

-

RN E

Ans

S
v =
| &
@
< 3
(]

Question ID : 816161849
Status : Answered
Chosen Option : 2

Q.25 fro e et a1 TS E Hewwa F1 AN W EE F 99 FY, A0 e (2) e HEA R

1111218
4 |5 |6
57|18 |?

Ans  of 1108
< 2 69
X 3205
X 4 55

Question ID : 816161846
Status : Not Answered
Chosen Option : --
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Q.1 2y <9l & weiretr / 3raftr & a1 nftreR® dR W A siifeifre & forg srdar v &= aret

YR GEHaN T 1 Fard |
Ans  of 1 ware R
X 2. e shgwe @
X 3. vgd e
X 4. e Rig

Question ID : 816161876
Status : Not Answered
Chosen Option : --

Q.2 yra W fRUTT (IMD) = 15 Si=a, 2020 &Y 39T RITYAT fEaw w9 |
Ans X" 1 1354f

of 2 1453t
X 3,140
/X 4.1394F

Question ID : 816161879
Status : Answered
Chosen Option : 2

Q.3 ferafeRaa # @ fra  wsfe wRres e war @2
Ans X1 =

K 2w@a

W 3.+fig

K 4ol

Question ID : 816161862
Status : Answered
Chosen Option: 3

Q.4 Hovr srr-frge wReerT (a5t - TRwE AoEe) TS W
Ans  of 1 wieradt

& 2 s

p R

X 4T

Question ID : 816161865
Status : Not Answered
Chosen Option : --

Q.5 giteer st o1 Frer 2019 & gam ol g e aftre: sifdmsh 3t wf off?
Ans X 1 Er fort

W 2. v ameRht

25 3. wfern T O

K 4. e wrdis®T

Question ID : 816161872
Status : Not Answered
Chosen Option : --
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Q.6 fr=feRaa # @ fora af #Y wRa & sFwiRESt shera J gag e &1 af warerar 82
Ans "1 1931

& 21911

of 31921

< 4.1951

Question ID : 816161867
Status : Answered
Chosen Option : 3

Q.7 GHISETE $T 519 HHTIT TR SIS Bl R 37
Ans X1 amEER

X 2.7 el

W 3. o

p

Question ID : 816161856
Status : Answered
Chosen Option : 3

Q.8 wagrErE et F T A gl 14 Horaret ¥ gRy wenfira Ay e e A gE d,
TR ST 9 31U+ 9T Hag T & 7R U)X & |

Ans  off 1 Rt omE TerE
X 2. mergdE s
X 3.
K 4. srersd Raersht

Question ID : 816161869
Status : Not Answered
Chosen Option : --

Q.9 et 3 ofrer ¥ Ryerrer et S Y &1 oI BEgerelt 22
Ans  of 1 e

X 2.3y

5 3.7

K 4 g

Question ID : 816161860
Status : Answered
Chosen Option: 1

Q.10 What does the writ of ‘Mandamus’ mean?
Ans ( 1. We Command

x 2. You May Have the Body
x 3. By What Warrants

x 4. To be Certified

Question ID : 816161875
Status : Marked For Review
Chosen Option: 1
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Q.11 HITHT /3 IReTE (iaRETSw) BEema/d T

Ans  of 1 wrzermitgar
X 2 freged sifat
75 3. et
X 4 wms

QuestionID : 816161863
Status : Answered
Chosen Option : 1

Q.12 = gy wrgaise (FIT) S & Sraf=aae 3g U HifaRie SR veM 3 & frg
frrafaRaa # @ fra sifuferam & deirer fear war oam?

Ans X" 1 St Raftrre sifufrs, 1949
o 2. s Rerd A (e ams) sfufrr, 1934
2 3. fraa e vd s RS forr arftfrr, 1961
K 4. aeirg shehfire Rre frm sififrre, 1948

Question ID : 816161858
Status : Not Answered
Chosen Option : --

Q.13 frafafaa # & fra e w6 9 with S &

Ans X1 ferf B
75 2. feif@D
X 3 frfmc
W 4 fefm A

Question ID : 816161864
Status : Answered
Chosen Option : 4

Q.14 yRa § dpurer & o vt R (wih) fras aRefead (Rewree) fear om?

Ans X 1 FmReS
K 2.8
i3.;rsﬁ?rﬁ[w
X 4. & g

Question ID : 816161874
Status : Not Answered
Chosen Option : --

Q.15 fr=feRae & | fra ga1 3 ALY BT UHRT Beled & Iy Giia & vt fhy oM are a8 sifa
TR & 91 I S99 & o1 fpar sirar 8, R Sifsset Siom / s o & 79 | s sirar 22

Ans X" 1 <igT @ TES
iz.miﬁm

X 3. |mTar B et

/X 4. reRe B T

Question ID : 816161857
Status : Marked For Review
Chosen Option : 3
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Q.16 3TE-T-3IFad’ THIH S A BT AH T1g?
Ans X' 1 arege W EE-TEET

/X 2.1 Rrerg

K 3. ST

W 4 sgerme

Question ID : 816161871
Status : Answered
Chosen Option : 4

Q.17 wifeww, grdiRmmsiResfean___ Furelie ©u 8 U o aret weenfes 7
Ans “ 1. grEgrer

X 2 e

K 3.

/X 4 s

Question ID : 816161861
Status : Answered
Chosen Option : 1

Q.18 15 Sr1adY 2020 P §as iRy 2R 7@ (MTHL) ¥ ugat a=or &1 guR faa fear?
Ans x 1. Rz A9

/X 2. afra mer

/X 3.3 weadw

W 4 szaeR

QuestionID : 816161878
Status : Answered
Chosen Option : 4

Q.19 g & uge et A9 T fore af smeife fomar ram ar?
Ans  of 11930

X 21923

/5 3.1907

25 4.1919

QuestionID : 816161870
Status : Answered
Chosen Option: 1

Q.20 fore I 9 Ryen=rrT = 9 wieadY 2020 FY w4 Wl Rre (i) sroemar?
Ans X" 1 it wer

X 2.

W 3. srevmEe e

X 4 sw

Question ID : 816161880
Status : Not Answered
Chosen Option : --
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Q.21 R wgdi & Rrh SRR Rm I A Frsga §2

Ans X" 1. i BT o=
X 2. arerete wTe o=
o 3. Terams A g
2K 4. @=en e ==

Question ID : 816161866
Status : Not Answered
Chosen Option : --

Q.22 fiysg SiftiaT et woiRit = g1er & F Rorsy A1 R 4 At o wftrarer e €2

Ans X1 =
& 2. wfea
#5 3. s

4 ww

QuestionID : 816161877
Status : Answered
Chosen Option : 4

Q.23 HRPHT EHN Wi aret Uget IPAET ST A Targ|

Ans X' 1| foriRe SR
K 2 FiR R
W 3 cFrr R
< 4. =i A

Question ID : 816161873
Status : Not Answered
Chosen Option : --

Q.24 GNP &1 T 3ref &7

Ans X" 1 gmefior o afwg (Gramin Nigam Parishad)
5 2. mfior ferras srTor (Gramin NisakiPraman)
« 3. Ui At Wigee (Gress Natjonal Product/dder I I¢0TS)
x 4. i Fered Mgg™ (Gross National Produce/ddet IISRT SedTe)

Question ID : 816161859
Status : Answered
Chosen Option : 3

Q.25 gemferat  ivar 3 e o aiftrga forar em?

Ans X" 1 1610%. (AD)
of 2.1510% (AD)
#5 3.1540%. (AD)
75 4.1475%. (AD)

Question ID : 816161868
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude
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Q1 smfy & PA %7 O a9 g7 W aew Rig P & @i @18 we Toeii@n §1 afy £POB = 110° 3, @
£APO T AT FT glem?

Question ID : 816161896
Status : Answered
Chosen Option : 3

Q2 3fr 6ran0 — 5v3secd + 12cotd = 0, 0° < 8 < 90° &, T¥ (cosec 8 + secq) =T AT 7T HST|

Ans

x 1 3423
2

X2 3443
2

X 3 23+2V3)
3

Vi Z3+43)

Question ID : 816161899
Status : Answered
Chosen Option : 3

Q.3 X 3k Y ar == §, S vw @ & 280 km gl R T §1 ve ARES 5T W X T & 60
km/h & =T § Y AR TS E 2 UE F G, T gAY & Y T X F AT 20 km/h #Fr T § Fo
¥ o oot FoAE X @ 9 &A, Y 399 & & e

Ans x13'€iﬂ-
X226 gr
K2
V4 g

Question ID : 816161890
Status : Answered
Chosen Option : 4
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Q4 o aifee & ai ot F AT T @ T Sfae oheT & s o A v set (@
0¥ g arer gearehat v gear weiia &7 2 # afeer & sremwe & sl T oaw geat w+v

3ot &I

Eul
=T 1997 1998 1999 2000 2001

oftemeff st | qfemet (IOt ol |seiot |ofemef st ofemdt | sehon
M 5200 (720 |8500 930 7400 850 6800 775 9500  |1125
N 7500 840 9200 1050 8450  |920 9200 980 8800 1020
P 6400 780 8800 1020 (7800  |890 8750 1010|9750  |1250
Q 8100 950 9500 1240 (8700  |980 9700 1200 (8950  |995

Y 1997 F Wit U= W WA g T FearhA Fr For wEAr Frar ofr?
Ans 1. 22 700

v 2 27,200
X 3. 27,000
X 4 72,200

Question ID : 816161903
Status : Answered
Chosen Option : 2

¥ (4a+3b+20)? @ BEER FT

Ans X1 4a? +3b% + 2¢% + 24ab + 12bc + 16¢a
X 2 16a% —9b? + 4c? — 24ab+ 12be= 16ca
V'3 16a% + 9b% + 4¢% + 24ab+ 12be+ 16ca
&K 4 16a% +9b* + 4c? — 24ab— 12be — 16ca

Question ID : 816161892
Status : Answered
Chosen Option : 3

Q6  fy gemat & 72% 3F 9T FIAT 51 3P T 360 3F § O 3fwaw 3w e 2
Ans X 1. 380
&< 2. 480
< 3400
v 4 500

Question ID : 816161885
Status : Answered
Chosen Option : 4
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7 (3a- 4b)® BEA F ¥ FEF TR

Ans X1 27a® — 64b3

V' 2 27a® — 64b% — 108a%b + 144ab?

X 3 9g%2 —24ab + 16b>

X 4 9q2 —16h%

QuestionID : 816161893
Status : Answered
Chosen Option : 2

Q.8 24 cm &= aer = ABCD # Tget PDC aamm S &, St g P, AB X R &1 Fnger &7 erawa
gt gem?

Ans X1 280 cm?
~ 2 200 cm?
X 3298 cm?
v+ 288 cm?

Question ID : 816161898
Status : Answered
Chosen Option : 4

Q9 o afeeT & o auf & R veat ¥ ve wfaared affem & smr 3 T sy 3T (@
i) @ arer goareiat fr e veita 1  #) arfee @ srewwa #Y 3R fEw aw geat v

3ot &I

EL
=7 | 1997 1998 1999 2000 2001

oitermedt | et | aftemelt |3edot  |ufemdt  sefot oflemd (st |ofemi | ST
M |5200 [720 8500 |980 74000 | 850 6800 |775 9500 1125
N |7500 [840 9200 |1050  [8450 920 9200  |980 8300 1020
P |6400 |780 8800 |1020 7800 890 8750 1010  [9750 1250
Q |8100 [950 (9500 |1240  |8700 980 9700  |1200 (8950 | 995

1998 # Wit Tt & FcdioT weaneft Fr g @, 2001 # Wl w=A & seciot vl & g
TEIT 1 T et gfderg 87 (Fed & &Y T OF T

Ans X 1.94.7%

v'2 97.72%
X 3. 96.70%
X 4.90.72%

Question ID : 816161904
Status : Answered
Chosen Option : 2
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¥ a7 weR orer quite F4T §, S 5, 8 3R 15 F U 37

Ans XL 40
X2 60
X 3 600
v 4120

Question ID : 816161881
Status : Answered
Chosen Option : 4

Q1 g A+B=12 3R AB=17 & ar A*+B® o AT =T g7
Ans of 11116
< 21106
< 3 1166
X 41213

Question ID : 816161894
Status : Answered
Chosen Option: 1

Q.12 G arfeer & o ast & BfEeT ol ¥ v wiomet ofeT § Ser a9 e A ST (@R
oIR%e) g arer geareiat Fr e wefta & 7 1 arfesr @ aregae & et T e geEt &

3ea¥ &l

EL
=T | 1997 1998 1999 2000 2001

aieme | sedot |afemft  se@or | wdemd |sefot  ofemft  sedt ofemf |seEt
M 5200 720 (8500 980 7400|850 6800 775 9500  [1125
N 7500 840 (9200 (1050 8450 [920 9200 980 8300  [1020
P 6400 780 (8800 1020 7800 (890 8750 1010 9750  |1250
Q 8100 950 [9500 (1240 8700  |980 9700 1200 |8950  |995

M 3T P ==t &, 3§ 1998 H ST goamefir T # e e 2
Ans Xl 60
v'2 40
# 3 50
X 4 44

Question ID : 816161902
Status : Answered
Chosen Option : 2
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T 209% s 15% F & FHEF FT F TAGET THT e fhaar greme?

Ans (1, 329,
X< 2 30%
X 3 28%
< 4 22%

Question ID : 816161884
Status : Answered
Chosen Option : 1

Q14 v gaehR aww oo, e @R FE 7 5 0 3 % aea & € e swer Wyt o dewer
27832 cm® &1 TW FIFH F HAAT AT HITT]

Ans 1. 208120 em?®
< 2 280120 cm?®

& 3288100 cm?
v 4 288120 cm?®

Question ID : 816161891
Status : Answered
Chosen Option : 4

Q.15 g o5 apfa &, AABC &, fg o = 80° &, aF 39 &F & ¥ weds v H AT F7 gei?

Ans 51 B0°
X 2 40°
X 3 80°
v 4 BO°

Question ID : 816161897
Status : Answered
Chosen Option : 4

O1¢ zfer 34 — 4B = 5C, @ A: B: C 3 T FIT 22
Ans X190 2 726

X210:5:4

vs320:15: 12

X420:15: 16

QuestionID : 816161887
Status : Answered
Chosen Option : 3
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Q17 A, B 3iiv C #r stw 3y 20 § Fur B 3 C # e g 25 7§ 1 A G g W B
Are X120 T%

V210 7%

X315 I

X4 25 g

QuestionID : 816161883
Status : Answered
Chosen Option : 2

Q.18 T AT A T TR B FAw 6. REt A 15 Rt F @ = wwd § s PewT 9w

o = far At 3% 9% U9 FF SiEHT T AT 9W S I o 93T e o e o
H QU & o

Ans ?(1- 1% ﬁ?l'
v2 2T
X3 3=
X4 R

Question ID : 816161889
Status : Answered
Chosen Option : 2

Q.19 AT 60° 1 =T (inclination) 9T 16 m & 8 & 9o+ F=aT &1 FTHE ¥ fFae 798 (h)
9T gder 3% @A

Ans X 44/3m
X 21643 m
&< 3 64/3m
v 8v/3m

Question ID : 816161901
Status : Answered
Chosen Option : 4

Q.20 The simple interest on a sum of money for 3 years at an interest rate of 6% p.a. is ¥6,750. What will be the compound
interest rounded off on the same sum at the same rate for the same period, compounded annually is closest to :

Ans 51 37,103
X 2 37,133
X 3 37.663
V4 37,163

QuestionID : 816161888
Status : Answered
Chosen Option : 4
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Q21 G afermr & o o9 # Rftes U9 & T SrREET ohem F amr a o it et (@
oY) @ arer geareiat fr e veiT 1 E #| arfee @ st #Y 3R few e geat v
3ot &I

EL

=T | 1997 1998 1999 2000 2001

aftemeff | FoT | gfemeft | 3ot odemeff |seiOT (ofemeft  (sfoT oftemeft |zt

M |B200 |720 8500 980 7400 850 6800 775 9500 1125

N |7500 |840 9200 1050 8450 920 9200 980 8800 1020

P /6400 780 |8800 1020 7800 890 8750 1010 9750 1250

Q 8100 950 9500 1240 8700 980 9700 1200 8950 995

T aiT I§t & S =T Q T ST o arer geaneiat & sitwa w@w = g

Ans 1. 8880
X 2. 9000
v 3 8990
X 4 8980

Question ID : 816161905
Status : Answered
Chosen Option: 3

92 1800+ 20X {(12— 6) + (24 — 12)} FT AT FII.ET?

Ans 1. 2720
X 2 840
X 31720
v 2 1620

QuestionID : 816161882
Status : Answered
Chosen Option : 4

Q23 14 cm fasm 3R 45° FET FT TS TH JoI-GS FT &TG fhdAT 27

e~
Ans X167 cm?
v 2 77 cm?
X 370 cm?
X 411 cm?

Question ID : 816161895
Status : Answered
Chosen Option : 2
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Q.24 ﬁ-;—ém’mﬁﬂaﬁ, cosect = AT e 72

Question ID : 816161900
Status : Answered
Chosen Option: 1

Q.25 7w vs FEg F AU 30% T HAE &1 58 T ApF & TUE W IR BHET geg | oawmr Hr
AT, J1 o uiged Raar gEn? (SaHes & U T J% °eD)

Ans X1 20.1 %
X2242%
v':231%
X 2224 %

Question ID : 816161886
Status : Answered
Chosen Option : 3

Section : English Comprehension

Q.1 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Our new office will become operational from a weeks time.

Ans x 1. No improvement
x 2. for a weeks time
x 3. by the week's time

( 4.in a week's time

Question ID : 816161910
Status : Answered
Chosen Option : 4
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Q.2 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Ans

You will not learn cycling unless you don't try.

x 1. until you are not trying

x 2. until you don't try

i 3. unless you try
x 4. unless you didn't try

QuestionID : 816161911
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate synonym of the given word.

Ans

Solemn

f 1. Serious
x 2. Ordinary
x 3. Ignorant
x 4. Furious

Question ID : 816161920
Status : Answered
Chosen Option: 1

Q.4 Select the most appropriate meaning of the given idiom.

Ans

Kill two birds with one stone

i 1. To achieve two results with a single effort
x 2. To try something impossible
x 3. To plan two murders simultaneously

x 4. To be an expert shooter

Question ID : 816161925
Status : Answered
Chosen Option: 1

Q.5 Select the correct passive form of the given sentence.

Ans

Fortunately, the fire did not cause much damage.

x 1. Fortunately, not much damage is being caused by the fire.
f 2. Fortunately, not much damage was caused by the fire.
x 3. Fortunately, not much damage was being caused by the fire.

x 4. Fortunately, not much damage is caused by the fire.

Question ID : 816161908
Status : Answered
Chosen Option : 2
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Q.6 Select the correct indirect form of the given sentence.

Rahul said to his mother, "Can | go out and play now?"

Ans i 1. Rahul asked his mother if he could go out and play then.
x 2. Rahul asked his mother that could he go out and play then.
x 3. Rahul asked his mother if can he go out and play now.

x 4. Rahul asked to his mother could he go out and play now.

Question ID : 816161909
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

@) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4) as a result of indiscriminate construction to provide water (5)
waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 7
Q.7 Select the most appropriate option to fill in blank number (1).

Ans X 1.an
x 2. one
W 3. the
X 4.a

QuestionID : 816161913
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

(1) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4) as a result of indiscriminate construction to provide water (5)
waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 8
Q.8 Select the most appropriate option to fill in blank number (2).

Ans X 1. spreading
X 2. stretching
x 3. scheming
i 4. sprawling

QuestionID : 816161914
Status : Answered
Chosen Option : 3
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Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

(1) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4) as a result of indiscriminate construction to provide water (5)
waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 9
Q.9 Select the most appropriate option to fill in blank number (3).

Ans X 1. none
x 2.no
X 3.or
« 4. nor

QuestionID : 816161915
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

(1) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4) as a result of indiscriminate construction to provide water (5)
waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 10
Q.10 Select the most appropriate option to fill in blank number (4).

Ans  of 1 destroyed
X 2. distracted
x 3. dismayed
X 4. displayed

QuestionID : 816161916
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Tourism can cause social, cultural or environmental disruption. The greatest concern is

(1) damage to environment. In order to attract more tourists, (2) resorts are built
which take neither the local architecture (3) the ecology into consideration. Natural
systems get (4)____ as a result of indiscriminate construction to provide water (5)
waste disposal facilities along with recreational arrangements to tourists.

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank number (5).

Ans  of 1 and
X 2.also
X 3. but
x 4.as

Question ID : 816161917
Status : Answered
Chosen Option : 1
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Q.12 Select the most appropriate ANTONYM of the given word.

Persuade
Ans  of 1 Dissuade

x 2. Pervade
x 3. Induce
x 4. Impress

Question ID : 816161923
Status : Answered
Chosen Option : 1

Q.13 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Their prestige and glory spread far and wide.
B. The first Olympics were held at Olympia in Greece in 776 B.C.

C. It was because the Christians believed that they encouraged pagan worship in temples.
D. However, with the advent of Christianity, the games lost their importance.

Ans o' 1 BADC

75 2.DCAB
75 3.BCDA
75 4.ACDB

QuestionID : 816161919
Status : Answered
Chosen Option: 1

Q.14 Select the most appropriate ANTONYM of the given word.

Rear

Ans  of 1 Front
x 2. Lower
#5 3.Hind
x 4. Back

Question ID : 816161922
Status : Answered
Chosen Option: 1

Q.15 Select the most appropriate synonym of the given word.

Eradicate
Ans X" 1 Approve

x 2. Magnify
x 3. Condense

J 4. Uproot

Question ID : 816161921
Status : Answered
Chosen Option : 4

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Q.16 Select the most appropriate meaning of the given idiom.

Make off with
Ans X" 1. To discover

x 2. To transfer

( 3. To run away

x 4. To understand

Question ID : 816161924
Status : Answered
Chosen Option: 3

Q.17 Fill in the blank with the most appropriate word.

Do you want to
Ans  of 1 subscribe

x 2. transcribe

x 3. prescribe
x 4. describe

to Reader's Digest magazine?

Question ID : 816161931
Status : Answered
Chosen Option : 1

Q.18 In the sentence identify the segment which contains the grammatical error.

If a few drops of lemon are put in the milk, it has turned sour.
Ans X" 1. drops of lemon

x 2. are put in the milk

x 3. If a few

( 4. it has turned sour

Question ID : 816161907
Status : Answered
Chosen Option : 4

Q.19 Select the INCORRECTLY spelt word.
Ans ( 1. Journy

x 2. Furious
x 3. Failure

x 4. Delicious

Question ID : 816161928
Status : Answered
Chosen Option: 1
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Q.20 Select the word which means the same as the group of words given.

Person or animal living on another
Ans  of 1 Parasite

#5 2. Heir

x 3. Successor

5 4 pupil

Question ID : 816161926
Status : Answered
Chosen Option: 1

Q.21 Select the INCORRECTLY spelt word.
Ans  of 1 Potraite

x 2. Persevere
x 3. Pageant
x 4. Pamphlet

Question ID : 816161929
Status : Answered
Chosen Option : 1

Q.22 Fill in the blank with the most appropriate word.

Your demands are bound to lead to
Ans  of 1 discord

x 2. barrier

x 3. absence

in the family.

x 4. decrease

Question ID : 816161930
Status : Answered
Chosen Option: 1

Q.23 In the sentence identify the segment which contains the grammatical error.

Mohit did not went to school yesterday as he was unwell.
Ans  off 1 went to sch6ol

x 2. was unwell
x 3. yesterday as he
75 4. Mohit did not

Question ID : 816161906
Status : Answered
Chosen Option : 1
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Q.24 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. These baits were temptations that people couldn't resist.
B. He evolved a theory that the world was a rat-trap.

C. Once, a peddler sat looking at his rat-traps.
D. Here, people lay baits for others.

Ans  of 1 CBDA

/< 2.BDAC
75 3.DACB
#< 4.CADB

QuestionID : 816161918
Status : Answered
Chosen Option: 1

Q.25 Select the word which means the same as the group of words given.

Central character in a story or play
Ans X" 1. Hedonist

x 2. Cartoonist
x 3. Opportunist
( 4. Protagonist

Question ID : 816161927
Status : Answered
Chosen Option : 4
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